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Ans.,

Labour Turnover =

2. Replacement Rate Me

ration in a period_——x 100
geparation In a per! - 2
e the permd

1ber of workers 1o

Average nun
consideration only the actys|

nto : ;
hod 1akes ! ave left during the period.

+ This met
thod any WDFKEI"E h

replacement of labour irrespective how m
No. of replacement in a period y
he period

mber of workers in 1
es into consideration both the number of

kers who have joined.
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Labour Turnover =
Average nu

s method tak

3. Flux Rate Method : Thi
ber of new wor

workers left as well as num
No. ufSEpﬂratinn + No. ﬂffEPlﬂc":mem x 100

Labour Turnover = A verage Jumber of workers

Causes of Labour Turnover . |
two categories : (i)

may be classified In

The causes of high labour turnover
avoidable, and (ii) unavoidable.

Avoidable Causes . |

1. Dissatisfaction with the job, remuneration, contraction In the market or lack of proper

planning.
2. Strained relationship with SUpervisors O
3. Lack of proper amenities like medical and other faci

Unavoidable Causes
a) Change of service for personal betterment.

b) Retirement due to old age and ill health.

c) Death.
d) Incase of female employees, domestic respons!

Control of Excessive Labour Turnover:
The following steps should be taken for minimising the labour turnover .

1. An adequate and satisfactory wage system.
2. A sound personnel policy for recruitment, induction and training of labour.

3. A satisfactory level of amenities and welfare measures li

. s | .
services, recreation, etc. ke canteen facilities, medical
4. A satisfactory security scheme | : : .

compensation, etc. Y e like family PEHSIDH provident fund, accident

5. A satisfactory policy for transfers and promotions.

r fellow workers.
lities, recreational centres.

%

bilities, pregnancy or marriage.

What do you understand by Time '
remuneration of labour ? ' and Motion Study ? In what way it is connected with

Time Study : It may be defined as *
dy : _ the art of observing and recording the time require
each delailed element of an industrial operation®. |ts rtiinnghjecctni;;? de?etr'n'fe tﬁuj td tg E:'E
ine the standa

ime required to carry out a j i
: Job most eff i :
known technique of Work Measuremant ciently. Time study is the most important and well-

Motion Study : This stud '
. y deals with on
unnecessar € aspect of - -
y movements of men and material. *Motion StTS;h?sd?h Estud;j. i.e. to eliminate
science of eliminating

waslefulness resulting from usi
_ _ Ing unn ill-di
Study is means o increase pro duglinn_ ecessary, ill-directed ang inefficient motions.” Motion
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is Essentiai ‘;’:h:n Iah:?ur is remunerated on
T etermine the standard time

IS stud Ne Time an :
any w?. each job is spiit | d Motion Study is the most scientific
Wasteful ang unnmnm small motions and each motion is
Prove performance 5_]'_5:1'5' movements and to arrange the
these gives this sta e time allowed for each movement
ndard time required to perform the job

pistinguish between job e
valuation a
nd merit ratin
g.

Job Evaluation : Job evaluati
e e aluatio
e respon ,
to th \ PO Blblht.}' and skill required e rating of vari : _
ascertain the relative worth of i for term. The basic obj rious jobs according
remuneration can be fixed ?Dﬂfhd{;b through an ”biect; :Eﬂci:a?: :;Ene:h:t?hlnn Iis;i to
e at relative

evaluation is that jobs whi rent jobs. The i _— g
wages or salaries. Ich are of the same relative wéﬁﬂﬁﬁdﬁ?&lﬁpl; yinin :Dt;.'
ame amount O

The main facto .
Knowled rs commonly considered for job evaluation ar
owledge and education required for the iob e as follows :
Skill and experience required. ol

Training needed.
Responsibility for equipment handled.

5 Work conditions of the job.

:Eig:mni:g;?h' JU;‘-"t as job evaluation determines the relative worth of jobs merit rating
e e re ative worth of each worker. Merit rating is a systematic :evaluatian of

the persnnallty and performance of each employed by his supervision or some other

qualified persons. It is a system Dy which the performance of an employee IS ohjectively

gvﬁluatec_l and pumpa_fed with that of others in his work group. The various qualitie§ taken

into consideration while rating the workers include the following :

(a) Ability to do the work.

(b) Knowledge of the job.
(c) Work habits and personal characteristics.

(d) Initiative and responsibility.
(e) Supervisory abilities.

erits and demerits of time rate and the piece rate systems of waje
the situations In which each system is effective and useful.
basis of payment. Labour is paid for

YN

What are the m
payment ? State

Time Rate System . In this system time is made the ! _ _
the time wurked irrespective of the volume of production during that tme. The
formula for calculating wages under this system IS
Wages = Hours worked x Rate per hour. - 1
: ' ime system are .
Rate-System - The main advantages o i
Adventage o/ T ! ation of wages is easily understood by the workers.

le and calcul

1. The system Bet d trends 10 concentrate on quality.

- _speeding an , .
3‘ '1{23 :veitir';:z;dns L?::;rﬁtiis 5y5§t’em is certain and workers have 3 feeling of secunty.
. The .
Disadvantages of Time Rate-System - Tne st dl:::: ?::3:::;:&
1. Itoffers N9 positive NG tiitz:f ;ctﬂ;:r‘;mm workers
P 1
2. It does not disting gish between © o because § (ow productiviy

3. |t trends to increase® labour cost Pe'
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(1) Itleads to an increast jn | .
. production, whi
(2) ltis beneficial to emplu‘ o resuts

(3) lihflpatu reduce labour turnover.

is suitable for the following type

- System
Suitability of Time Rate-System : Time Wage oY

—— : i las
of situations : ality, e.g. high €
: ; i rtant than qu
i)  Where quality of work is mz: LT;];EH quantitative terms.

i) Where output cannot be er. L
i) Where output is beyond the_e control I?;;D;EG that close supervision is possible,
i) Where work is being done if 3 ST12 . worker is paid @ fixed amount pe,

Price Rate System : Under the price 1ate S¥S.Z0 oy per unit of output is fixed ang

' en.
unit produced without any regardltu the time tak
earnings are calculated as under .

Wage = Numb

face Rate Systom - muneration is in di
»:ldviir::ge::;: Ezentive tuywc:-rkers to produce mMOre as the re direct

' ' .
proportion to worker's effo ot
2. Because of high production, overhead per unitis @

iti Si
3. It simplifies costing because Iqbnur cost per I.Lmt "E :E:E )
4. The method is simple and easily understood by

Disadvantages of Piece Rate Sy
1. To maximize earnings, some
2 rﬁniieeﬁf‘ efforts to maximize output, workers dn:aylscause gxcessive wastage of
' i ' ols.
rials. mis.andle and damage machinery and 10 o
3. ?rfet.esystem is usually opposed by trade as It creates greed and unhealthy rivalries.

s tailoring.

er of units pruduced « rate per unit.

educed.
ly known in advance.

ﬁﬁ:;:substandard quality of goods are produced by

Suitability : The piece are system is suitable : _
a) Where the output of individual workers can be easily measured.

b) Where work is of standardised and repetitive in nature. |
¢) where there is an urgent need to increase the volume of production.

What do you understand by “Incentive to workmen" ? What are the principles of a good
incentive scheme™ Discuss the advantages of incentive scheme.

An inxntive may be monetary, i.e. cash benefit, or non-monetary. It may either be
individual to every worker or collective to a group of workers. The primary purpose of
incentive wage plan is to induce the worker to produce more, and by producing more to
secure a higher wage while saying in production cost per unit. Any incentive scheme

should encourage the workers put in their best on their jobs.

Principles of a good incentive scheme : A good incentive scheme should have the
following principles :
1. The scheme should be simple and easily understandable b worker
| S so th
shauld be avail to calculate his own wage easily. ! A @ wone
2. The scheme should be fair to both employer and employee.
3. The cost of operating the scheme should be reasonably low.

4. The standard ofperformance should be scienti -
reasonable reach of an average workers. seientically set and should be within the

5. Th
- e scheme should have the approval of workers and the union.

No worker should suffer a reduction of |
machine breakdown, power failure, etc. T o fectory beyond his control such as

7. The scheme must be relativel
ow and ther Y pérmanent and should not be allowed to change every

Advantages :

In cost reduction
ers, employees and Customars |
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Q.12.
Ans,

1y It need careful consideration j
work. time and expen d;uir'gﬂn in fixing

2) Itis difficult to withdraw
the pﬂ'int of view of ma a scheme once it i ;
nage it is int .
3) As the scheme needs thg ment, roduce if

standards i
and setting rates which involve extra

It is uneconomic and weak from

\Write short notes on -

a) Profit sharing and co-part ,
b) Non-monetary incentige&nersh’@-

t Shari
a) Profi haring and Co-partnership :

profit-sharing : Profit-sharing schemes are th
e

the employer and hi i
ploy d his workers whereby ose where there is an agreement between

to their wages the e
rinciple thagl E;'e?y EJ:ar: of profit at an agr;nept:‘lnr:t:g;e-ﬂ to pay to workers in addition
orker contributes something tuwérdzls T:Eteme is based upon the
output and profit.

shareholders. In other wo
: . rds, workers are g
. e : )
capital of business and to receive the profits agéucruenir:;; ?Dnﬂgzsr;t.tl‘nuly io*have shwre n fie
are.

Profit sharing and co-partnershi
ership based :
the profit of the organizati on the premise that work '
rganization served by him and allowing him to paft:zi::tlniﬁ L::; tm{d;

the capital of the undertakin
: . _ so th ta
improve industrial relation 5? at, they take keen interest in the business activities and

b) Non-monetary In - : :
) aciiies. Th g ar:E:etli;zi[ : These incentives are given in the form of better inanities or
incentives do not form parlm?re m fhe. condions ot employment than to job. These
o oloyer serves as stimul I.:D twnrkers pay packets but the provision of which by the
o incentive is t ants to workers to improve their performance. The objective of
o make conditions of employment more attractive and peneficial to the

employee.

What are the f_ringe benefits admitted to the workers in a factory 7 How are the expenses
on such benefits charged to cost of production ?

Industrial workers usually enjoy certain benefits in addition to their wages, salaries and
other allowances. These benefits, known as fringe benefits, are costs incurred by the
employers, which are not related to the quantity of work done by workers. These can be

monetary as well as non-monetary. List of such benefits is as below

Sick Pay
Holiday Pay
Subsidised Conveyance . 5
Subsidised Canteen Facilities ¢
Educational Facility
Medical Care
Free Housing
e benefit is not substantial, it may be treated as

: 1t of frin S
Treatment : Where the am . where the amount is quite substantial, it may be

part of production overheads. However,
recovered as direct charge by means of supplementary wage rate.

hat are itS ubjectiues?

What is group bonus 7W

Meaning : Group Bonus refe

group of workers. Su
cannot be established!measuren

collective efforts made by 2
erally when individual efficiency
 The quantum of bonus Is
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Q.15.
Ans.:

whole. Bonus is shareg
determined on the basis of productivity/ output of the tarr;l isrt i?:-ns e ime bassd WEQEs_b
the individual workers in specified proportions e.g. on prop

iaeti oup bonus scheme are -
Objectives of Group Bonus Schemes : Thg.nbﬁi;l:;: ::kae g P re :
(a) To create collective interest and team spirit Em o arformance.
(b) To create interest among supervisors to Tpe
(b) To reduce wastage in materials and idle time.

' I output at minimum cost. ot of the tea
((E)} 12 zﬁgf:rea;gt:nmdlil::dualpmambers of a team, where only the outp m as g

whole can be measured.

What are the principles of good remuneration system?

i ‘ kers :
' ted principles of remunerating Work | _
:’at;elftogﬁx:::g zlr:;f cpE;r Witl::l thepindustry standards and In conformity with the generg

wage-levels prevailing in the locality.

(b) It should be same for work or jobs involving similar efforts and skill. [i.e. equal pay for

al work o= -~

(c) th:hnuld b]e related to the degree of skill, effort, initiative and responsibility of the
b inimum wage, regard|

(d) It should be reasonable to workers and guarantee them a minimu ge, regardless

of their efficiency. o
(e) It should enable workers to maintain a reasonable standard of living.

(f) It should enable the workers to increase their earnings by_makin'g _extra .Effﬂﬂ and by
increasing output. As far as possible, there should be no maximum limit for his earnings.

Define casual worker and out worker.

Casual Workers are those workers who are not on the list of regular employees but are
engaged casually whenever there is extra workload in the factory or whenever the regular
worker is absent from the job for a temporary period because of illness or any other

reason.
Outworkers are those workers who work outside the factory premises.
These workers may be —

(1) Those who are not in regular employment. They are supplied material for execution
of work at their own premises. -

(2) Those who are in regular employment. They are sent to ' |
. : perform some specific duties
at customer’s premises or at any other place as per the directions. P

Define Job Analysis, Job Description and Job Specification

Job Analysis : Job Analysis is a
regarding the operations, duties and
aspects of job analysis - Job Description and Job Specification
Job Description : Job Description .

il 00 L 's a statement of the duti
specific job. It contains information — - ¢ Culies and responsibilities of 2
(c) Whyis to be done. o ~ (@) What is to be done; (b) How is to be done;

Job Specification : Job specification :
- Pecification is g -
person should : statement of mini . .
(8) Apti POSSESS to perform the job effectively. The J fl::mlmm'1Ll U ol
ptitude and abilities: Ob Specification may relate to

(b) Personality and related Characteristics:

(c) Educational qualificatio ini
9) Exporones NS and training;

(¢) Physical and mental
() Decision making and

process of gathering and analyzing information
responsibilities of a specific job. There are two major

requirements;
Judgement,
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pefine Time Booking M
Ow

Time Booking is g3 IS it dj
orders or pmcesses.";t ::rgif? fecnrﬁing !': from Time Keaping ?
er € time g 4

1. Time Keeping is a ent from Time Keepi

S
whereas the Time B;zﬁnmgﬂf Tecording the

various jobs, ord Isa
_ . Orders g Syste
2. The objective of Timer Processes, m of r

preparation of pg Kﬂeplng is t :
cost of a job, Drde\,.;n;lrl. The main O maintain the 3

ODjecti .
Process. ve of Tim
What are the methods of Tjm
1. Daily Time Sheet - & Booking 7

; :tis :
on each job durin A daily rec
g the d ord for each -
2. Weekly Time Sheet - I:’*?‘- worker in respect of time spent by him

i : IS
. b T Sy the week
. :itis g
particular job. record for each Job in respect of tim
e spent by the worker on that

4. Combined Time
. ﬂl"ld Juh ca . .
5 \:;::;Ei:: ZWDerr on a Dartigla-'trlitul; @ Combined recort of attendance time.
" ard : This r‘ ® .
output achieved b ecord is maintained wh i
y them. It sh . en wages are paid to the workers on
assed alo i : Ows the details ' ; :

P | ng with unit wage rate and total wagr:? ::;g%:qgsﬂféuﬁ uf-f d, rejected and

What is Wages Abstract ? o

Wage Abstract is '
a record showing details of wages paid to each worker during a

particular period for different j ' :
Work Card. jobs. It is preferred with the help of Job Card and Piece

The main objectives of pre :
: paration of Wa :
1. To allocate direct wages to various jntg;.s Abstractare

2. To apportion indirect wages to Production, Administration and Selling Departments.

CA R. K. MEHTA

orker on various |
"3 on account of following S Jobs.

arriv
Ecnrd?:l-,ga?: departure time of each worker
€ time spent by each worker on

E“EEHUE."':E. record for thepurpose of
ooking is to ascertain the labour

r
y record for each worker in respect of time spent

Suggest different ways of controlling labour cost.

The ultimate objective of control over labour cost is to keep the labour cost per unit of the
output as low as possible by increasing the labour productivity. For this purpose, there has 1o
be combined effort by all the concerned departments involved in the control of labour cost.

In any organization it is generally seen that following departments are involved in control
of labour cost :

Department
1. Personnel Department

Function
2. Recruitment and selection of workers
b. Training and development of workers.
c. Placement of workers.

2. Recording the arrival and departure time of each

worker |
b. Recording the time spent by each worker on various

 jobs, orders Of  processes.

2 Time-Keeping Deptt.

a. Preparation of pay roll record for each employee

b. Issue of pay slip to each employee
c. Disbursement of salaries and wages

3. Pay roll Department

‘ tion of labour cost data o
4. Cost Acaodng S : o of direct labour cost to various jobs. |
c‘ Appurtinnment of indirect labour cost to varous

iystified basis.
rtments on some justtﬁed |
d i?ﬁysia of Labour Cost Reports such as Over Time

Report, ldi€ Time Report. \ariances, elc.

_____.--—-——'—_-—-
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Q1. A firm employs five workers at an hourly raté © 4 completed a job for which the
worked fﬂrr;ﬂlfﬂﬂb‘ﬁ for a total period of 40 "OUT= agch & ur cost under the Halsey

standard time was 48 hours fO( each _wurker. .
method and Rowan method of incentive plan P

wan m
[Ans. Total Labour cost (1) Halsey ethod ¥ 440 and (2) RO

COST ACCOUNTING

- ' takes 6 hou
0 mmplelﬁm: r::}:'?‘ results. His day rate is ¥ 6 per hoyr
y '« ¥ 40 and the overheads are

Q.2. A worker is allowed 10 hours t
of the product 1S
i der —

complete the job _
and piece rate is T 60. The material cost

charged at 150% of labour cost. Calculate
(i) Piece work plan [Ans.: T190]

(i) Rowan Plan [Ans.. ¢ 166]

(i) Halsey Plan [AnS.. ¢ 160]

Q.3. A worker under Halsey method of remuneration r+E-'1t:'E!'i_'*"E"5_t 12 pe; EEE;T;:: t';””"'ér'fmus
cost of living bonus of 10 paise per hour worked. He is given an :” remiun?ionm'
which he completes in 6 hours. He 1S allowed 30% of the time save as p P nus.
What would be his total amount of wages under the Halsey method and what difierence

would it make if he was paid under Rowan method? |
[Ans.: Amount of wages (a) Halsey method = ¥ 2.25; (b) Rowan method = ¥ 2.475, difference =

70.225]

Q4. Bonusis paid on following lines -
Times Saved Bonus
Upto 25% of time allowed 10% of time saved

Next 10% of time allowed 20% of time saved
Balance 30% of time saved

Calculate the earnings of a worker who takes 50 hours to complete a job where the
standard time allowed is 100 hours. The wage rate per hour is ¥ 1.20. [Ans.: X 70.80]

Q.5. Compute total earnings of the worker under straight piece wo ' '
work method fgr each of the jobs. Under straight pigecepwnrk memuznihilfggzza;rzlez?&
at ¥ 2 per unit, whereas under differential piece work method tﬁe rate of wa e':v. [
Re.0.50 per unit for first 480 units and thereafter increases b. Re.0.50 it for
subsequent 240 units produced. g 059 per unit for

JOB : A 8 C
UNITS: 720 . 1,200 480 12’30

[Ans.: ¥8,160 (Straight piece work method) and ¥ 4,680 (Differential piece work method)]

Q.6. The employees in a | i
plastic toy-makin ‘ ~
an 8 hours shift Each emplu;e g unit are paid wages at the rate of Z 7 per hour for

hour € produces 5 units per hour. The overheads are T 10 per

Employees and the mana
gement are consideri : :
Output per day of 8 hours "0 1°1OWing piece-rte wage proposal

Up to 45 units Labour co :
From 46 to 50 units L4 1,8';;;::;;1’:"?“r unit
From 51 to 55 units T1.60
From 56 to 60 units ¥ 1'55
Above 60 units 3 1'?0

31.75
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on. a
Prepare statements shq Y. The overhead rate

: wing ady
production level of 40, 45 5 and saunhan?ﬁ: ‘© the ®Mployees and the

does not change

Ans.: management at

Gain to empig 40 unj
. yees s 4
Gainto Managemen; s 1 250 FE7E e v
4 ' :

R 14.50 2 16.25 222

€M, the emp|
hours taken to hours g| Mployees are
. lowed, Fullumng are the dﬂﬂ:ﬁ: E:;:rilizf :‘;Urs saved in proportion of

Wage rate per hour 7 X Y 2 g the workers X, Y and Z
Units produced 6,000 - 16

Time allowed for 1pp g 8 hr o 4800

units = AShrs, 1hr.

Actual time taken 42h1s. 40 hrs 48 hre

Calculate for each employer —
(1) Bonus [Ans.. X ¥21, Y 222 22: 7 1

(2) Total Wages [Ans.: X 189 vy v 22
. ; 2.22;
(3) Wages per 100 units [Ans.: X 73 15; ‘r"?{"’z?:fﬂg}? 6]

Q.8. Fniglv;:;tgepe;hr.gﬂg; :nf a worker under (|) Halsey Plan, and (i) Rowan Plan from the
1. Hourly rate of wages guaranteed 2 0.50 per hour
2. Standard time for producing one dozen articles > 3 hours
3. Actual time taken to produce 20 dozen articles - 48 hours..

[Ans.: () T27, (i) £28.80]

Q9. The following are particulars given to you :
Standard 10 hours per unit.
Time rate < 30 per hour

Prepare a comparative table under Halsey plan and Rowan plan if time taken is 9 hours,
8 hours, 6 hours, 4 hours and 3 hours. The table should clearly show the amount of
bonus payable, the amount of total wages and,labour cost per hour under the two
methods. State at least one point of distinction between Halsey plan and Rowan plan in

the light of your calculation.

fAns: Casel Casell Caselll Case IV CaseV
er hour
-8 Iiﬂ}:'; ;z:t P 31.67 33.75 40.00 52.50 g?gg
- Rowan 33.00 36.00 42.00 48.00 .

ranteed hourly time wage is ¥ 15. The worker
7 20 under Rowan Premium Plan due to

has performed the simi_lar job in the
roed Fﬂi:-!un'l Plan. Ascertain total wages

[l . a " d guE
10. Standard time for a job is 50 hours an
y Garry receives an effective hourly rate of

rker
| in performance. Another wo
:;fﬁfrtli?ze"t‘:uﬁ he gets wages according to Halsey prem

for Larry and his effective hourly rate.

2625 and ¥ 18.75]. .
Ane.: €€ ~eeds to improve productivity to cope with higher

th 20 workers. HEers' demand for higher wages. With these three

tition E"!'d W;fkmtmduce either Halsey Premium Plan with 50%
ning

for the current month are as follows :

Q.11. John has a factory Wi
demand, market compe
objectives In mind he
bonus or Rowan Plan.

is plan
Figures

i G R e i s
#3— 1 \ o ) i P
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Guaranteed Hourly Wage Rate ‘ - at |
Average time taken for producing 1 piecé by 1 wurkeas time allowed 1 Va2 hour

previous performance level, which can be taken 2;

Number of working days in the month

Working hours per day per worker
Actual production during the current month

B Crab ot der Halse
(i) Calculate effective hourly earning per worker un

[Ans.: €17.25and ¥ 15.46}_ | ost per piece of production under each of
(i) Calculate savings to John in d"Eﬂ;?g;;EU aﬁd 71.20]

the two schemes. |
for the quarter ending on March 31

labour turnover rates tion method, replacement methog

A company has calculated the _
2003 as 6%, 4% and 10% respe = 50. Find out the number of

and flux method. The workers replaped durin v
workers recruited and separated during the qua er.

3,900 units.

y Plan and Rowan Plan,

[Ans. 50 and 78].

Q.13.

[Ans.:

Q.14.

In a factory bonus system, bonus hours are credited to the Empluyef:jnfthe p':’F;UﬂiDn of
lime taken which time saved bears 10 time allowed. Jobs are carri orward from one

week to another. No overtime is worked and payment is made in full for all units workeq

on, including those subsequently rejected. |
From the following information you are requl

a) the bonus hours and amount of bonus; ‘
b) total wages; and (c) the wage cost of each good unit produced.

red to calculate for each employe2 :

A . B C
Basic wage per hour T 250 T 400 T 300
Units produced 2,500 2,200 3,600
Time allowed per 100 units 2 hrs. 36 min. 3 hours 1 hr. 30 min.
Time taken 52 hours 75 hours 48 hours
Rejected 100 units 40 units 400 units
A B C
(a) Bonus hours 13 Nil 6
Bonus amount ¥ 2,600 Nil <1600
(b) Total wages 715,600 30,000 716.000
(c) Wage cost for 76.50 713.89 5
Each good unit].

In a factory Ram and Sham produce the s ' i
and ot the $ame normal wagt o ame product using the same Input of same material
Bonus is paid to both of them as per Rowan Plan. The time allotted to

hours. Ram takes thirty hours and Sham takes forty hours to

Factory Cost of the product for R -
Rale s % 12 per map 1o am Is ¥ 3,100 and for Sham 2 3,280. The Factory Overhead

Calculate (i) Normal Wage Rate; (ji) Cost

material if the unit material cotis 7 16, "l Used fof the product; ang (iii) the input of

[Ans.: (i

The finishing shop of a com
wages per week of 40 hours

€10; (i) 2,320 (iii) 145 units]

Pany employs 60 direct
When Workers. Each worker | i
ours per ﬁqu per workér at necessary, overtime js worked uptue;ligi:?n:ﬁ? E-:':F,'I' ?:
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Wage Incentive Sygte NG introdyet;
m. l.lclmn ;
per unit and the Direct M?E_budgeted weep, Sther Helsey Schem
per direct labour hour ang tﬁ:m Costisz g Y Output is 19200 unit:T?':'E i::;::; pﬂﬁﬂhﬂfﬁg ‘?':
: ceis

Per uni ;

repare a Xe . Th
Prep Statement 1o show d overheaq s E.DDnEp:?T:Ii overneads amount to ¥ 0.50
cK.

introduce (a) Time Rate Wage IEE effect on the o
. (b) Halge MPany’s weekly profit of the proposal to

. Amount of P ¥ Sc
fAns.: AM rofit (a) ¥11,000; (b) # 19 40, eMe. and (c) Rowan Scheme.

for a sin | .
d EJ’; pi?':tm“; 8 hours for 25 days in a month. The
ges mass production item and introduced an
s @ ;ayable lo the workers are as follows :
2 per unit subject to a guaranteed

incentive scheme to boost out
(i) El?silr: wages/piece work W
NiMum wages of 7 60 per :ag:

(i) Dearness g
Owan
() Incentive bonus - ceat 40 per day.

Standard output per da
: Y per
mcentfve bonus up to BU; e;f‘:lrzit:é
|ncentwe‘ bonus for efﬁciency ahuveyﬂﬁ%
The details of performance of four workers for th

40 units :

Nil :

¥ 50 for every 1% increase above 80%
e month of April 1998 are as follows :

Worker
. No. of d;}: worked Qutput (units)
A > 820
; 4 500
C 28 910
780

Calculate the total eamnings of each of the workers
Ans. [AT2740;BX1,800;CY3,370;DZ2,750]

Q.17. Calculate the amount of wages and bonus b
y @ workman from the followi '
Job commenced : Monday, 24™ December at 8.00 A.M. TSR e iR
Job finished Saturday, 29" December at 1.00 P.M.
Quantity of work turned out : 638 pieces; Quantity of pieces passed : 600 ;
Worker's rate : ¥ 50 per hour; Time allowed : 10 pieces per hour;

Bonus : 40% of time saved.
Assume that the employee worked for 9 hours a day and there is no overtime. Bonus is
Ans. [T 2,700]

to be paid for units passed only.
On the basis of the following information, calculate the earnings of A, B, C and D under

Merrick Differential Piece Rate System:
Standard production per hour

Normal rate per unit
In an 8-hour day -
C produced 84 units

A produced 64 units
i g6 units D produced 100 units

B produced
D72

[AZ38.40;B%63.36.C % 55.44 and |
Kalyan manufactures 300 articles. He

ing fi 2012 the workman Mr. .
Q.19. D“”'_‘g first we%(r t: gg;!anteed 48 hours week at thg rate luf T 4 per hour. '_l'he esnmatetd
:_ECETES wggie one article is 10 minutes and under incentive scheme the time allowed is

ime [0 pro culate his gross wages according to :

: by 20%. Ca
increased DYy 0 d weekly wagde,

(a) Piece work with a guarante;e
b) Rowan premium bonus, an
o Ha ; onus : 50% 10 workman.

(c) Halsey premium b
Ans. [ (a) % 240; (b) ¥ 23040; (©)% 216] |

Q.18.
- 12 units

-3 0.60

Ans.
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' molumen
Q.20. ‘A’ an employee of XYZ Co., gets the following € z 250 per month
(a) Salary 7 400
(b) Dearness Allowance on 1" ¥ 100 of salary z 100
on next ¥ 100 of salary 50 or part thereof

on balance every T 100
(c) Employer's Contribution to Provident Fund

E.S.I
(d) Bonus
(e) Other Allowances

out of
A works for 2,400 hours per annum,
treated as normal idle time. A worked for 18

. , , ing
cost of direct materials EQI.{EIl {15 earn|
Cost. The sale value of the job IS quoted to €3

You are requested to find out:

8% of Salary and D.A.
4% of Salary and D.A.
20% of Salary and D.A.

7 2 725 per annum |
rs are non-productive but

which 400 huunn Job No. 13, where the

ive hours _ ] |
S anjﬁt?'l:n:ierhead applied is 100% of Prime

rn a profit 0

f 10% on such value:

(Ans. ¥ 7.50]

ive hourly cost of ‘A,
(a) Effective hourly e Not3. [Ans.i'BﬂD]

b) The expected sale value 0 _ -
(b) 00 per month in addition to

iti % of basic
dition he gets a bonus @ 10%
oo E“‘-ltcr.«.ffsnrt:is provident fund and 1% towards

Ascertain the labour cost per hour if worker is paid T 3,

Deamness Allowance of ¥ 1,000 per mon

tributes 10% of basic wage | /o 1OW
ggﬁeégiﬁlzﬁ;ﬁtnig contributed by employees. The employer is also maintaining a

canteen to which monthly subsidy amounts to zh1ﬁ2?£a??élg1t?::2 :iift?:ti?::ﬂé}sﬂghi
days in a month are 25 of 8 hours each. IN | 0%.
tanﬁﬂ% Dgfrr:pluyees are working. Each employee lSrEﬂtIﬂEd to one day leave with pay

for every 20 days work. (Ans. ¥ 31.12)
as basic wages and I 400 as D.A. p.m. Employer's

. irect worker is paid ¥ 1,600 p.m. » IR
A :G:Itﬁ::tiun to F'.F.pias 10% of hisp basic pay and D.A. Employer’s E.S.1. contribution is 5%
on basic. Cost of non-monetary benefits to him is estimated as ¥ 200. Actual qumber of
working days (of 8 hours working per day) after adjustment for wgeklg off, holidays and
leaves entitlement are estimated at 250 per year. Normal Idle time is 10%. Calculate
wage rate per hour for costing purposes. (Ans. X 16.53)
Q.23. From the following particulars, prepare a statement of labour cost showing the cost per
day. (8 hours)
(@) Monthly Salary -T 900
(b) Leave Salary - 5% of (a)
(c) Employer's contribution to provident fund - 8%% of (a) and (b)
Ed; Emplugers contribution to E.S.I. - 3% of (a) and (b)
e) Expenditure on amenities to labour -T112
() Number of working hours in a month of 25 days -8 hDur;;eant:_e::yper month
(Ans. T46.63)
Q.24. From the following particulars you are required to calculate

according to ‘Average Wage

S completed in 2001.
rates are as follows: 01

= 150% of basic wage rate
- 200% of basic wage rate

ng labour hours were worked -

Rate’ the labour cost chargeable to Job No. P-30 '

Basic wage rate is ¥ 15 per hour and Duerti‘rne s
Before or after working hours
Sundays and other holidays

During the year 2001 the followi

Normal time
| Hours
Dvert;me before or after working hours 4,00,000
Overtime on Sundays ang holidays 150‘000
Total 40,000
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Normal time
Before or after workin
Sundays and holidg Eg hours ﬂe.“é'u'ﬁ
(Ans. T 67,960) ‘y\ 700
300
25. From the following datq
a.=>- - Cﬂlﬂulate W
- ————2VOrk Cost for Jobs performed b Ajay and Saurav
Rate per hour U?h:;s' 42 hrs.
Actual time taken 28 T4
Actual units produced 48 hrs. ?E 11_5
M‘-’“‘E”EIL“UH for jobs 150 units 200 units
Buntus gn Z 668 - 21.020
Factory Overhead 50 ;_-lalsey Rowan
(Ans. ¥1,748 and ¥ 2,980) o of wages 100% of wages
26. The standard labour tim - _

. fixed as 4 hours. An Einrsg:;ifd for the production of a certain component has been
productivity. The relevant details :f ti;h:cmhz oo intr?duceu fecenty %o rare Iabox
Efficienc me are as follows :

Below 105—% :;‘:‘I’-':‘:;T as a percentage of basic wages

. ive

100% (i.e. : hrs./unit | 10%

Above 100% ::%;ddfirtéu?al inceTtl:e for every 1% increase in efficiency above
, , fraction excluded.

Four workers A, B, C and D produced 16, 12, 14 and 10 units respectively in a particular

week of 48 hours. The basic wages of all these workers is Z 15 per hour.

Calculate the efficiency, total earnings and labour cost per unit in respect of each of the

above four woerkers.

Q.27. The profitability position of M/s. Pioneer Industries Ltd. for a year is as under :{

L4
(Lakhs) (Lakhs)
Annual Turnover %gggg
Variable costs ’ .

: ibuti 50.00
Marginal contribution 10.00
;i}(?d Pwti’.‘rl" heads 4000
rofit for the year | _ —

The profit for the year did not match with company's expectation and Works Management

attributed it to labour turnover.

Analysis of the ca s Ve f3'larlzlcﬂlﬂr:'ill? ; the year 9,60,000 direct labour hours
Permanent workmen worked during 80,000 direct labour hours
Trainee workmen worked 10,40,000 direct labour hours

: : s 50% and delay in
, t in by trainee workmen wa :

The effectiveness of direct [abour I:r?urfhpeuyear };esulted " loss of 20.000 direct labour

hours. unt of loss of production from labour turnover.

Calculate the loss of profit on acco

Ans, ¥ 3,00,000.

e
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worried about their increasing labourturmnover in the

Q.28. The management of a company are . teps, they want to have

fﬂﬂtﬂl’y‘aﬂl‘?g beg:e:malysin; th: causes and taking ;Zﬂﬁdtﬁ; ?ﬂ 5’: year. an
idea of the profit foregone as a result of |abour turno _ 20 ver

d the pmﬁt.uulume ratio was per cent. The
ted 2 83,03,300 an "t Labour FOrce was 4.4;5 lakhs. As a
in filling yvacancies daue to laboyr
e Ilust The actual direct labour hourg
which half of the hoursg

Last year sale amoun
total number of actual
result of the delay Dy the
turnover, 1,00,000 putentiaily prod
included 30,000 hours attributable

‘ve hours were 1>
uctive cecruits, out of

were unproductive. . _
nalysis the following :
The costs incurred consequent on labour turnover revealed on @ Yy zg
43,820
Settlement costs due to leaving 26,740
Recruitment costs 12 750
Selection costs 30.490
Training costs
of labour turnover could

st as a consequence

j duction lo
ntial produ orofit foregone last year on account of

Assuming that the pote |
ailing prices. Find the

have been sold at prev
labour turnover.

Ans. ¥5,57,930

Q.29. Calculate the total monthly remuneration of three workers P, Q and R who are working in
a factory, based on the following data : _

(i) Standardproduction per month per worker . 2,000 units

(ii) Piece work rate Z 0.50 per unit

(iii) Production bonus to be given as follows :

Upto 85% efficiency Nil

Between 85% and 100% efficiency Incentive bonus at T 40 for every 5%
increase above 85%.

Above 100% efficiency Incentive bonus at < 40 for every 5%

increase above 85% plus 20% additional
bonus on the incentive earned.

(iv) P, Q and R had a production of 1,600 units, 2,000 units a : .
during January, 2013. s and 2,200 units, respectively

Ans. 800 (Worker P), 1,120 (Worker Q) and ¥ 1,340 (Worker R).

Q.30. The standard time required per unit for a product is 20 minutes. If in a day of 8 working

hours, a worker gives an output of 30 uni -
units, ¢ i
Scheme. He gets a time rate of ¥ 20 per hour. hiouiate his eamings-under Rowan Bonus

Ans. <T192.

Q31. A '
worker is allowed 60 hours to complete a job on a guaranteed wage of ¥ 10 per hour

He completes the job in 48 ho
. urs. For ina in ti
under Hasley Premium Plant (@ 50% Bﬂw:s;’ gme saving in time, how much will he get

Ans. 540

Q.32. 2 hours allowed
to a worker to produce 5 uni
u
108 48 hours week the worker Lol 1Tra1tlsmeixtr;d wages has been paid @ 25 per hour.

You are required to ¢

'] - I

nicenive wage 55‘sitr,:emsE;I culate the total earnings of the worker ung .

\ (1) Halsay system; (2) Rowan system; (3! nder the following
ns. (1)¥1,450; (2) ¥ 1,653; (3) T 1,940: (3]

Emerson's s
ystem:
(4) T 1,428. '

(4) Barth system.
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Ans-

Q.35.

Ans.

Q.36.

Ans.

a

ause of Eﬂ‘u"ing in
Rnwﬂn Premium Bo ' Worke e hnl-l“

wages @ worker Y il oystem. For e 001 an fiatiine 1o Sumenioad wages 18 = o

to worker. et under Halge Same saving in tj urly wage of ¥ 10.80 under

Y Premium B me, calculate the hourly rate of

710.125 onus System, assuming 50% bonus

CA R. K. MEHTA

Iob is 50 hours

Two workers ‘A’ and ‘B’

wage rate is also the sam e

1 _ e. ‘A 2 1e produ '

pﬂld bc?nl:is according to Hal;éy Paid bonus ac::usr::ﬁ the same material. Their normal

hours. ‘A’ takes 30 hours while B 1o e, (e time all i o Rowan acheme whils & 2

overhead rate is I 5 per pergg takes 40 hours to cuuTnE? :: make the product IS 59

manufactured by ‘A" is T 3,490 and 1o o SCualy worked Baathe peodad, T protli
. ' nd for product . The factory cost of product

Required : manufactured by ‘B' is ¥ 3,600.

() Compute the normal rate
(i) Compute the material Cﬂsif wages.

(i) T 20 and (i) ¥ 2,500.

Apex Ltd. has its factories at two :

Plan at location B. GRorvdard €me G bath i et e f vagos B8 aer 94
v ich & 1 b " . ra E and h \

job which IS similar and is carried out on similar machin:f;c'ﬁrha:gﬂﬁgezﬁisa ?ﬂ ?::Tres ore

Job at location A is completed in 36 hgurs. while at B, it has taken 48 hours.

Conversion cost at respectiv
40 per hour. P € ma':iﬁﬁ are 2 2,448 and ¥ 3,000. Overheads account forR

Find out the Normal Wage Rate.
T 20 per hour.

A_wurkman Exer_:utes a piece of work in 120 hours as against 150 hours allowed to him.
His h?uﬁy r?afte is T 25 and he gets a dearness allowance of ¥ 100 per day of 8 hours
work in addition to his wages. What earning will a workman receive under the following

incentive schemes ?
{i'} Halsey premium plan, 50% bonus to workers,

(i) Rowan plan; and
(i) Emerson’s efficiency plan.

(1) T 4,875; (i) 2 5,100; (iii) X 5,850
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pProblems>s

Solutions to Revisiona

Answer to Q. No. 1:

Time allowed = 48 hours per worker

Time taken = 40 hours per Worker
Timesaved = 48-40 = 8 houis per worker

od
Computation of Labour cost under Halsey Method

Time wages (2 x 40) x 5 workers

(+) Bonus [—50— x 8 x 2] x 5 workers

100

wan Plan

Computation of Labour cost under Ro 1

Time wages (2 x 40) x 5 workers

(+) [E x 8 x 2] x 5 workers
48

Answer to Q.No. 2:

Piece wage rate =¥ 60 (10 hrs. X 3 6 per hrs)

Hourly wage rate =X 6.
Computation of Labour Cost

(i) Piece work plan =360
(i) Rowan Plan

Time wages (6 x 6)

(+) Bonus [%x 45 e]

(iii) Halsey Plan

Time Wages

(+) Bonus (1

5o

Computation of Factory Cost

Materials Cost

Lavour Cost

Prime Cost

(+) Factory overheads
(150% of Labour Cost)
Factory Cost

Plece Work Plan Rowan Plan Halsey Plan

X 40

N o N

40 40
20.40 48
90.40 88
75.60 72

166 160
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snswer to Q. No. 3 :

Time taken 6 hours
Time saved 2 hours

payment of Wages under Halsey pegpoq

Time wages [ 6 hrs. x X 025/
R 2x025
nus | ——x<x0.
(+) BN | Jo0

(+) Cost of living bonus (6 x 0.10)

8 hours

payment of Wages under Rowan Method

Time wWages
6
(+) Bonus (E x 2 x U.‘ZEJ

(+) Cost of living bonus

Difference in the amount of wages
= 2.475-2.25
= ¥0.225.

Answer to Q. No. 4 :

I

100 hours
50 hours
100 = 50 = 50 hours.

Standard time
Actual time

Time saved

50
100

50% of time allowed.

x 100

Percentage of time saved

Wage payment for actual hours worked (50 x 1.20)

(+) Bonus
First 25% of time allowed

100 x 22 x 19 120
100

100
Next 10% of time allowed

100 x 10 x 20

=
100 100

1.20

Balance 15% of time allowed

100 x 15 x 30 x 1.20

100 100

I

CAR. K. MEHTA

60

24

L
#####
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COST ACCOUNTING 7.28
Answer to Q. No. 5:

C utation of Earnings er straight

1,44q
Job A = 720 units x ¥ 2 per unit 2,400
Job B = 1,200 units x X 2 per unit 960
Job C = 480 units x T 2 per unit 3,360
Job D = 1,680 units x T 2 per unit 8.160
Total
Computation of earnings under
Wwwﬂ”""e"‘ﬂ -
| = 40
JobA First 480 units x ¥ 0.50 - g pi 480
Next 240 units x I 1 L2y
. . = 240
Job B  First 480 units x T 0.50 - 240
Next 240 units x T 1 3 360
Next 240 units x T 1.50 3 280 1.320
Next 240 units x T 2 = 224 ) B
Job C  First 480 units x T 0.50
JobD  First 480 units x 0.50 = 240
Next 240 units x 1 = 240
Next 240 units x 1.50 = 360
Next 240 units x 2 = 480
Next 240 units x 2.5 - 600
Next 240 units x 3 = 720 2640
Total 4 680
Answar to Q. No. 6 :
Labour Cost per hour = 37
Overheads per hour = <10
Hours per day = 8
Daily labour cost = 7x8=X56
Daily overheads cost = 10x8=%80
Units per hour = 5
Labour cost/unit = RS 7 21.40
Rs.5
Overheads cost/unit = 10 _,,
5
Statement showing gain to the employee
Dail r;::ductfn :
Particulars 40 . Y P n (units)
Wages under new system 40x130= | 45% 130 95 60
| et b 55 x 1.65 = 70 x 60
W . X 52 ¥ 58.5 T 90 7565 l;nmz
ages under existing system 56 256 .
Gain (14 X 56 I56
2.5 34,75 6
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howin ;
the employer nder the
I'lE S 5

hen nits a ro
ggulng in overheads ML“ in a day 7
() Extra labour cost (40 units x 0, 1p)
in NIL
ﬁﬁ hen 45 units are produced () 1(-) 4]
gaving in Overheads [ 5 units x 7 2 24
(-) Extra labour cost [45 units x 1%
Gain _ VP 10
[Iﬂ ‘n . nits a roduc H-LL'-}"—':.'-‘-“JD'
gaving in overheads [15 units x 2 2)
(-) Extra labour cost [ 55 units; 0.25) 30
Gain ] 13.75
(d) When 5_0 nits are produced 16.25
Saving in overheads [ 20 units x 2]
(-) Extra labour cost [ 60 units x 0.30) 7 40
Gain 718
Answer to . No.T7: 222
particulars X v
Units completed Z
Unit allowed per 100 units %—g%% 3,000 4,800
Total time allowed 6.000 x 0.8 1.5 hrs. 1 hour
; = 48 hrs,
Actual time taken 42 Ersm 13 Em' 1% ETE-
Time saved 6 hrs. 5 hrs. =
- rs. NIL
L4 . 4
Normal wage per hour 4 5 6
Wage for actual 42 x 4 40 % 5 48 x 6
Time worked = 168 =200 =228
42
Amount of bonus EHBM# %n SR NIL
=X 21 =22.22
Total wages T 189 222.22 288
189 222.22 288
- x 100 x100 x 100
Wage cost per 6.000 3,000 4,800
100 units =3.15 =1.41 -
Answer to Q. No. 8 :
Actual time taken =48 hours
Actual output = 20 dozen articles. i
- ozen articles = 9 nrs.
Budgeted time to produce On d 0% 3 =60 hrs.

Hence, budgeted time t0 produce
Time saved = 60 — 48 = 12 hours.

20 dozen articles = 2
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3
Computation of Total wage e ' 24
Time wages (48 x 0.50)

(+) Bonus

50

== x Time saved x wage cost /.

100 3
—5-0—1 ]21{}.5“) 27
100 .

L4

n Plan
WWWJ,W—— 24

Time wages (48 x 0.50)

(+) Bonus =
(_Time taken  rime saved x Wage cost per huur)

\ Time allowed 28.80
:L%g |2 x U.ﬁﬂ']

Answer to Q. No. 9 : ) sey and Rowan Plans
Comparative WHQE;”":H HaIB;l"us Total Labour cost
Time m wages per hour

Time Time -t
allowed taken = wage T
Scheme Hre)  (Hrs) ¥ (Hrs.) 4 L4
Case | 15 285 31.67
Halse 10 9 270 1 33.00
Rnwaﬁ 10 9 270 1 27 297
Case ll 337'5
Halsey 10 8 240 : ag g;g 36.00
Rowan 10 8 240 2 4 -
Case lll
Halsey 10 6 180 4 60 240 40.00
Rowan 10 6 180 4 72 252 42.00
Case IV
Halsey 10 4 120 6 90 210 52.50
Rowan 10 4 120 6 72 192 48.00
Case V
Halsey 10 3 90 7 105 195 65.00
Rowan 10 3 90 7 63 153 51.00

A major point of distinction is clear from the above table that when the time saved is less than
50% of the tim~ allowed, Rowan Plan allows higher amount of bonus than Halsey Plan. If time
saved is more than 50% of time allowed, Halsey Plan allows higher amount of bonus.

Answer to Q. No. 10 :
Standard Time = 50 hours
Hourly Wage Rate =¥ 15

Worker Garry
Assume actual hours = x

Hence, L4
Time Wages (x hrs, x Z 15/hr.) 15x

x)

Bonus (Rowan Plan) — -X J
(Rowan Plan) 50::(5[] x)x15 — x(50 -




UNTING
sosrﬁﬂm —
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Tntﬂl garnings

we tive hourly rate =X 20

gffec

/‘,‘/—_=2U

3 (50-x)=20
15+-1-E}-(50 1}

Sﬂwing' we gEt x =33 % hours.
Hence: actual hours taken by worker Garry are 33 % hours.

worker Garry

Time Wages (33 }é hrs. x ¥ 15/hr.)

50
(+) Bonus (Halsey Plan) m(ﬁﬂ -33 %]hrs. x T 15/hr,

Total Earnings

<625
Effective hourly rate = -
73

3
155+ = x(50 - x)

500 .

hrs.
=T 18.75
Answer to Q. No. 11: _
T et 7500
67,500 |
(i) Time Wages (20 x 25 x 9 x 15) 7,500 ;533_;-;
(+) Bonus 10125 |
Total Earnings 7825 3077
Total Actual hours (20 x 25 X 9) 450 4,500
Effective earnings per hour

Computation of Bonus
Standard time

1 unit = 1.5 hours
—5 3,900 units = 3900 x 1.5

= 5,850 hours
Actual hours = 4,500 hours
Time Saved = 1,350 hours

Hence. bonus under Halsey Plan 15

% x Time Saved x Wage Rate

2 x 1350 hours * X 156/hr.

100

=3 10,125

The bonus under Rowan Plan I$ Je allowed

- EE'UE x 1.350 hrs. XX 15/hr.

5850
=X15,577

Time takén_ , Time Sa

ved x Wage Rate

\______——_—_____
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" %%I-Ja?ﬁtp?:creﬂ-lf_ga = 1.5 hrs. x T 15 per hour = 722.50
— Halsey Plan = 313;331?5 =3¥19.90
— Rowan Plan = S?Qi?lﬂfts =%21.30
E‘;awggaggryﬂ?::= 22.50 — 19.90 =¥ 2.60
_» Rowan Plan =22.50-21.30=%1.20
Answer to Q. No. 12. Il during the quarter

, ro
Computing of average number of workers of Number of Replacement

Labour Turnover Rate (Replacement Method ) = Average no. of workers

50

Average no. of workers
.. Average no. of workers = 50 X (100 + 4) = 1,250

Calculation of total number of workers who left during the qu;rter
Total No. of Seprations _ 6%

Average no. of workers

Labour Turnover Rate (Separation Method ) =

_ Total No. of Seprations

1,250
. Total workers who left = 1,250 x (6 +100) 75

Labour Turnover Rate (Flux Method) = Total Separations + Total Recruitment = 10%
Average no. of workers

75 + Total Recruitment

1,250

-. Total recruitment = 1,250 x (10 + 100) - 75 = 125-75 = 50
* Note : It is assumed that there is no recruitment due to expansion.

Answer to Q. No. 13:

A B C
() Units Produced 2,500
(i) Units Rejected 100 21233 aﬁgg
(m} Units accepted = (i) — (ii) 2.400 2.160 3,200
(iv) 'ljme Allowed (Hours) for total units produced 65 66
(v) Time Taken (Hours) 52 po
(vi) Time Saved = (jv) - (V) 13 J? 48
[ 6
Amount of time wages ? : <
AS2xT250;B75xT400: C 48 x T 300
Amount of Bonus : 13.000 30,000 14,400
A= = x 52 x¥ 25 i
— —— x * il -
65 WEREAS 5¢  1onTA00 2,600 Nil 1,600
Total wages '
age Cost of each good unit 15,600 + 2,400 = 7 & 000 50,000 16,000

16,000+3,200=% 5

6.50 30,000+2,160=1 3.89
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nus hours
{H] ggnus amount 1 CAR. K. MEHTA
TﬂtﬂI Wages 3 N

(b) , 2,600 I 6
©) wage Cost of each good unit 15,600 v 3{}';:511 T 1.800

swer to Q. No. 14: ¥ 650 ’ 1'3.309 ? 15&03

the cost of material a3
Let x b€ nd y be th
tofo € norm
pactory cos utput of Ram Fﬂﬂtnry ;L;?t:'t}; ::ages per hour
material ? o ot Sram
Time Wages 3 Material :
gonus (30 y * 20/30) S0 Time Wages :
D”Erheﬂdﬁ 30 hrs x ¥ 20 1;6_; Bonus [_4[] y X 10;50} 43:
Factory COst X+42y +2 360 Overheads 40 hrs x 2 20 480
X + 48 y + 480

Factory cost of product of Ram is 3,100 anq of Shyam is ¥ 3
IS < 3,280.

The two equations are :
X+42 y+ 360=X 3,100
x+48 y +480 =X 3,280

golving, we get X = 12320and Y =% 10.
Thus: (i) Normal Wage Rate is ¥ 10 per hour

(i)
... (i)

(ii) Cost of material used for the product is 2,320 for each worker
(iil) Input of material in units = 2,320+16 = 145 units used by each worker

Answer to Q. No. 15:
(a) Time Rate Wage System
400
ourly wage rate = =
Hourly wag a0hours <

Overtime rate = 15
Total output = 19,200 units

Output per hour = 6 units
19,200
= 3,200 hours

Total Hours =

Normal hours = 60 workers x 40 hours = 2,400 hours

Overtime

Total Wages
— Normal time (2,400 x 10)

- Overtime (800 x 15)

(b) Halsey Plan

hours would have been used und
hours. Hence, total wages is compu

Time wages
(2400 hours x T 10/ hr.)

Bonus [i x 800 hours X Z10 / hour
100

= 3,200 — 2,400 = 800 hours

Here. the workers will produce 19,200 units by working onl
er time rate wage Sys

ted below !

|

¥ 24,000
312,000
3 36.000°

e

y 2,400 hours whereas 3,200
tem. It leads to saving of 800 labour

L4

24,000
4,000

28,000

-
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COST ACCOUNTING e
(c) Rowan Plan 24 000
Time Wages
(2400 hours xX 10/ hr.) 6.000
Bonus [2400 TS 800 hrs. x HDJ 30,000
3200 hrs. cchomes
e
Profit statement under three wagHalseb' Plan Rowan Plap
Timelrﬂﬁg 2400 hours 2400 hours
3200 ho 0 22.11.20
72,11.200 22,11.200
| 2211200 1,53,600 1,53,600
Sales 19200‘ units @ ¥ 11 (a) 1 53,600 Izgluou o000
Direct Material @ X 8 36,000 1.200 1.200
Direct Wage 00 : '
Variable overheads @ % 0.50 per labour hour ;Ignﬂ 9,000 9,000
Fixed Overhead , 00'200 1,914,800 1.93.800
Total Cost {(b] m Z 19.400 317,400
Profit (a) = (b) _ 1 1958
i ach worker in the Apri .
Answer to Q. No. 16: statement of Total Earn!"lﬂi”f EearnES s Incentive Total
re Output in Basic Earnin
Workers Days P wages  Allowance ‘ gs
worked WY w=@)x ()= () (vi) (vii) = (iv)
(i) (ii) (iifi) vs 7 40 + (v) = {vi)
25 820 1,640 1,000 100 %,740
E‘ 18 500 1,080 720 . 800
C 25 910 1,820 1,000 650 3,370
D 24 780 1,560 960 50 2,750

- - | d minimum wages @ X 60 per day for
Working Notes : (i) The worker B has been given guarantee | day

wage is higher than guaranteed wage.

Computation of incentive

Worker  Efficiency Incentives @ % 50 for each 1% Increase in efficiency above
80%
A 820 2xT50=%100
= 82%
25x40
B 500 No Incentive
=69.4%
18 x40
C 910 11 x ¥ 50 =¥ 550
=91%
25 x40
D 780 1x350 =350
=81.25%
24 x 40
It is assumed that the workers do not et i ‘ :
improvement. get incentive payment for a fraction of 1% efficiency

Answer to Q. No. 17: Time Taken -

Monday to Friday : 5 days @ 9 hours
Saturday 8 AM to 1 P.M!.; ¢ dhec

45 hours

;‘ntal hours worked 5 hours
tandard time for 600 pieces at 10 piece

| S 50 hours

Time Saved = 60 = 50 = P per hour 60 hours

10 hours
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hours worked = “---ﬂ_’%_ S
wages fof 50 ho — B |
0 - @R S0 Per hour = ~———__CAR. K MEHTA l
gonus 40% of time saved = 1 hou ur = " V
'Sx¥50x 0 _ T 2,500
tal Wages 100
W 90 200
aswer 10 Q. No. 18: State
ﬁece rate sysiem ment Showing the €arnings of R
}nﬂm . T Of workers as per merrick differential
gtandard production per hUUr—{ﬂﬁTr—“—h——i______—Er -
sandard production per day (in umt;} T c D
Actual production (in units) ) 96 96 12 12
efficiency % 64 o6 96 96
piece rate applicable (in X)) 66.67 100 84 100
wnings (in%) 0.60 0.66 E’?.ED 104.17
Note : According to Merrick Different 38.40 63.36 5;555 0.72
ording to efficiency. T ential Piece R _ 44 72.00
acc y. The rates are a ale System. different -
Upto 83%, Ordinary piece rate. s follows - ~ rates are applicable
g3% to 100%, 110% of ordinary piec
over 100%, 120% of ordinary pié}ce rea:eate'
Answer to Q. No. 19 GROS
(a) Piece work with a guaranteed WEEI-(I? :‘;:SEES DUE TO MR. KALYAN
Amount of ;”39'35 = Time Wages (48 Hrs, x  4/hr,) ¢ :
r W
Output Wages (300 units x 0.80/ unit) wh .
Rate per hour worked : X 240 + 48 ) whoever is more 240.00
(b)Rowan Premium Bonus Plan : 5.00
Wages for 48 hours @ X 4 per hour 192.00
Bonus - Time Taken T T 48 *
. x e
s allowed ~ | me Saved xWage Rale =g x12 x4 38.40 230.40
Rate per hour worked : T 230.40 + 48 4 80
(c) Halsey Premium Bonus Plan : '
Wages for 48 hours 192.00
Bonus : 50% of the wages for time saved 24.00 216.00
Rate per hour worked % 216 = 48 450
Working Notes : Standard time for producing 300 articles :
Estimated time for one article 10 minutes |
Add : 20% increase under incentives scheme 2 minutes
Total for one article 12 minutes
Total for 300 articles 3,600 minutes of 60 hours
Time taken 48 hours
Time Saved 12 hours
Answer to Q. No. 20 XYZ & Co.
iy y COST OF A.
(a) STATEMENT SHOWING EFFECTIVE HOURLY &%
(i) Earnings of A 250
Salary per month |
Dearness Allowance per month: 400
On 1% 100 of salary 1{2}2 25
On next ¥ 100 of salary
113

On balance of ¥ 50 salary
Salary and D.A. per month

\-______-__/_
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COST ACCOUNTING 9.300
Salary and D .A. per annum (775 x 12) ;-;4
Provident Fund @ 8% of Salary & D.A. 1 362
ES|I @ 4% of Salary and D.A. by 0
Bonus @ 20% T-A-.Z%
Other Allowances 15.001
Total Earning per annum

(ii) Working Hours : 21430
Gross hours 'L_QGDD
Less: Normal Idle Time 2,000

Effective Working hours _ r
Effective hourly cost of A = 15,001/2,000 = Z 7.50 per hou
EXPECTED SALES VALUE OF JOB NO.13: 7 135

Direct Material (equivalent to A's w ages) 135

Direct Labour (A for 18 hours @ T7.50) 270

Prime Cost _ 270

Add : Overheads @ 100% of Prime Cost 540

Total Cost " 60

Add : Profit 10% of Sales Value or 1/9" of cost Z 600

Sales Value

Answer to Q. No. 21 Monthly Labour Cost Details per Employee:
Basis Wage 7 3,000 | Total working days in month 25
Deamess Allowance 1.000 | Total working hours in a day X
Bonus 10% of wage = 3,000 x (10+ 300 200
100)
Employer's Contribution to P.F. 300 | Less Paid Leave (Note) =10
3,000 x (10 + 100)

Employer's Contribution to ESI 3,000 30 190
x [1+ '|UIJ}

Canteen Subsidy per employee 100 | Less 20% Normal Idle Time 190 x| =38
10,000 = (1 + 100) (20+100)

Total monthly labour cost per 4,730 | Effective hours in @ month 152
employee

Monthly labour cost per employee
Effective hours in a month

Hourly Labour cost per employee or Hourly Rate of Charge =

4,730
152

Note: Leave allowed is 1 day out of 20 da ' ca
_ ys. Since there are 8 hrs. pe ' co ed
that leave allowed is 8 hours out of 160 hours. Hence, if total hours ;?:'%;é 1:32: a||23:3 i
| S

8
= —— x 200 = 10 hours.

For the employee's work =¥ 31.12 per hour.

160

Answ . No. 22 ;

Calculation of wages
gﬂf‘: wages Per month (T)
Contrbution to P.F. (10% of Basi 1609

s ok sic + D,

Contribution to E.S.1. (5% of Basic) A . 400
Cost of non-monetary benefits 20
Total wages 80
— 200
2,480




